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Chapter 1 Open-Ended Assessment

Demonstrate your knowledge by giving a clear, concise solution
to each problem. Be sure to include all relevant drawings and
justify your answers. You may show your solution in more than
one way or investigate beyond the requirements of the problem.

1. a. State the property of real numbers or the property of equality
that justifies each step in the solution of the equation given.

3x + 5 =8x
3x +5+ (—3x) = 8 + (—3x)
3x + [(—3x) + 5] = 8x + (—3x)
[83x + (—3x)] + 5 = 8x + (—3x)
0+ 5=8x+(—3x)

5=8x + (—3x)
5=1[8 +(—3)]x
5=5-x

1. ,_1

1. _ (1.
1=1"-x
1 =x
x =1

(;lven

b. Write your own solution of the equation 6(7 — x) + 3 = 9x as you
would write it on a test. Compare your solution to the solution
above. Did you use all of the same properties as you listed above

to solve your equation? Explain.

2. Given the inequality \ x— 3 \ = k, find a value of %, if possible, that
satisfies each condition. In each case, explain your choice.

a. Find a value of & for which the inequality has no solution.

b. Find a value of & for which the inequality has exactly one solution.

c. Find a value of £ for which a solution exists but for which the

solution set does not include 5.

3. a. Write a word problem for the inequality 2 + %x = 10.

b. Solve your problem and explain the meaning of your answer.

c. Graph the solution of the inequality 2 + %x = 10. Does the graph

have meaning for your word problem? Why or why not?
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